कार्यपालक अभियन्ता का कार्यालय ग्रामीण कार्य विभाग, कार्य प्रमण्डल, कहलगाँव

288 / कहलगाँव

दिनांक 02-03-2022

प्रेषक,

कार्यपालक अभियन्ता ग्रामीण कार्य विभाग कार्य प्रमण्डल, कहलगाँव

सेवा में,

अपर मुख्य कार्यपालक पदाधिकारी-सह-सचिव, बिहार ग्रामीण पथ विकास अभिकरण, पटना।

विषय :-

नई बिहार ग्रामीण पथ अनुरक्षण नीति 2018 के तहत योजना शीर्ष MR-3054 के अधीन पूर्ण कराये गये पथों में भुगतान हेतु आवंटन की अधियाचना के संबंध में।

महाशय,

उपर्युक्त विषय के संबंध में कहना है कि योजना शीर्ष MR-3054 के अधीन पूर्ण कराये गये पथों में भुगतान की अधियाचना विहित प्रपन्न में उपयोगिता प्रमाण-पत्र सहित समर्पित किया जा रहा है।

अनुरोध है कि आवंटन उपलब्ध कराने हेतु अग्रेतर एवं आवश्यक कार्रवाई करने की कृपा की जाय। अनु०-यथोक्त्।

कार्यप्रालक अभियन्ता ग्रामीण कार्य विभाग कार्य प्रमण्डल, कहलगाँव

2/03/27

Requisition Format for Scheme Head - MR (3054) Under Bihar Rural Road maintenance Policy 2018 (Initial Rectification and Surface Renewal) f Division: Kahalgaon

	vai	ne of Divisio	n : Kahalgao	JII	_													
			Project ID as per MIS	Administrati ve Approval (AA) Letter No & Date	Administrative Approval (AA)		Agreement Amount (in Lac)								Previous	up to date		
S	LN	Name of Road			Length (In Km)	Amount (in Lac)	Initial Rectification in with Surface Renewal (in lac)	5 years Routine Maintenan ce (In lac)	Agreement No. & Date	Date of Completion as per Agreement	Actual Date of Completion	Value of IRI (in mm/km)	Thickness of Bitumen Layer (in mm)		Total Alloted Amount (I Lac)	e as per MIS (in Lac)		Remarks
1	AHATON	Srirampur More To Bhorki More	20703202120	1848 & 24.06.2019	1.455	48.217	24.6879	13.04919	27MBD/2020-21 & 23.09.2020	22.06.2021		3156/ 2367	25 mm	5%	0.0	0.0	23.60	Physically Completed
2	KAUBHIK	Bhitti Gramin Path (PMGSY Road) To Bari Ibrahimpur	20703301013	1848 & 24.06.2019	0.883	31.369	18.08179	8.16677	27MBD/2020-21 & 23.09.2020	22.06.2021		3550/ 3514	25 mm	5%	. 0.0	0.0	18.00	Physically Completed
3		Bansitikar to Jagatpur	20703401001	5261 & 04.10.2019	1.800	59.094	41.354	16.43493	04.12.2020 & 32MBD/2020-21	03.09.2021		3160/	25 mm	5%	0.0	0.0	40.35	Physically Completed
4		NH 80 to Rani Talab	27341032999	5261 & 04.10.2019	0.600	39.244	25.839	5.49541	04.12.2020 & 32MBD/2020-21	03.09.2021		3200/ 3175	25 mm	5%	0.0	0.0	25.83	Physically Completed
5	AH/19/0006	Pradhan Mantri Road Akbarpur to Lagheria via Madhopur Karher (Part)	20703201053	5261 & 04.10.2019	3.000	92.464	59.899	26.87589	04.12,2020 & 32MBD/2020-21	03.09.2021		3275/ 3330	25 mm	5%	0.0	0.0	58.89	Physically Completed
6	RM/BH/K	Jethania to Laxmipur Babhania via Barhal Baba asthan	20703301006	5261 & 04.10.2019	2.500	61.063	38.289	18.88083	04.12.2020 & 32MBD/2020-21	03.09.2021		3511/ 3476	25 mm	5%	0.0	0.0	38.25	Physically Completed
7		Satkar Chowk Lagheria PMGSY Road via Pal tola Bhagwatipur	20703301023	5261 & 04.10.2019	1.700	52.027	32 18	16.58848	04.12.2020 & 32MBD/2020-21	03.09.2021		3226/ 3206	25 mm	5%	0.0	0.0	30.10	Physically Completed

Executive Engineer RWD Work Division

Kahalgaon

Executive Engineer RWD Work Division

Executive Engineer RWD Work Division

19A

(See Government Of India's Decision (1) below Rule-150) Form of utilisation Certificate Up to 28.02.2022 **NEW MAINTENANCE POLICY-2018**

PIU:- Kahalgaon

SL No.	Name of Scheme	Sanction No. & Date With Amount (in Rs. Lacs)	Amount Received (In Rs. Lacs)	Particulars
1	Construction of Rural Roads under NE MAINTENANCE POUCY-2018	ltr. No-05 dated 25.01.2022	Rs.2 ₂ 35,00000.00	Certified that out of Rs.19,71,77,583.00 received during the years 2020-21 in favour of Ex. Engineer, RWD Kahalgaon, Bihar a sum of RS 17,54,37,406.00 has been Utilized for the purpose of MMGSY NEW MAINTANCE Schemes as given in the ————for which it was sanctioned and that the balance of Rs.2,17,40,177.00 remaining unutilized at the end of the period under.
Total				the first the bolon fulfilled and that thave

2 Certified that I have satisfied myself that the conditions on which the grants in aid was sanctioned have been duly fulfilled/are being fulfilled and that the exercised the following checks to see that money was actually utilized for the purpose for which it was sanctioned.

Kind of Checks exercised:-

- (i) Works have been supervised by Executive Engineer/Superintending Engineer.
- (ii) Periodical inspection has been conducted by Executive Engineer/Superintending Engineer
- (iii) Construction material have been tested.
- (iv) Measurements have been recorded in the MBs and test check conducted by the Assistant.
- (v) All other codal formalities have been observed.

3 Physical Progress achieved:

- (i) Construction of Road Works.
- (ii) Construction of CD Works.

Rural Works Department Works Division,

Executive Engineer Rural Works Department Works Division Kahalgaon ificat

Value

Bitum Conten

OFFICE OF THE EXECUTIVE ENGINEER RWD WORKS DIVISION- KAHALGAON

Name of Scheme- Satkar Chowk Lagheria PMGSY Road via Pal tola Bhagwatipur, Batch No.- RM/BH/KAH/19/0006, Project ID- 20703301023

Certified that all item wise 100% measurement has been taken by

Works Division Kahalgaon

Certified that all item wise 50% measurement has been checked by

Assistant Engineer

RWD Work Section-Kahalgaon RWD Works/Sub-Division-Kahalgaon Works Division Kahalgaon

Certified that all item wise 10% Measurement has been shecked by

RWD Works Division Works Division Kahalgaon

	Time	Section	Length	Bumps	Speed	OR		CATEGORY	IRI	Latitude	Longitude	Event					
		No.	in km	in mm	Rate	mm/km	UIV	ROAD					Y = 0 * X ^ 2 + 0.969 * X + 70.64				
14/2/22 1	11:49:30	34	0.1	280	0	2800	2783	G	3.76	25.23946198	87.28031801	Normal	X = 4000				
14/2/22 1	11: 50: 5	34	0.1	400	10	4000	3946	G	3.14	25.23919996	87.27937387	Normal	Y = 3946				
14/2/22 1	11: 51: 16	34	0.1	330	20	3300	3268	G	3.34	25.23839447	87.2789018	Normal					
14/2/22 1	11: 52: 0	34	0.1	360	10	3600	3559	G	3.69	25.23834595	87.27802204	Curve					
14/2/22 1	11: 52: 26	34	0.1	300	10.1	3000	2977	G	4	25.23840418	87.27739976	Curve	(R) RURAL RO	AD			
14/2/22 1	11: 52: 26	34	0.1	330	10.1	3300	3268	G	3.94	25.23760839	87.27697061	Normal	Good	Average	Poor		
14/2/22 1	11: 53: 2	34	0.1	380	10.1	3800	3752	G	3.91	25.23675437	87,2765951	Normal	<4000	4001-5000	>5001		
14/2/22 1	11: 53: 2	34	0.1	340	10	3400	3365	G	3.86	25,23617208	87,27600502	Curve					
14/2/22 1	11: 53: 37	34	0.1	340	10	3400	3365	G	3.46	25.23577418	87.27520035	Curve					
14/2/22	11: 54: 12	34	0.1	450	10	3300	3452	G	3.7	25.23563831	87.27435278		Name of Road- Satkar Chowk Laghe PMGSY Road via Pal Tola Bhagwatip				
14/2/22	11:55:0	34	0.1	240	10.1	2400	2396	G	3.29	25.23484251	87.27407383	Normal					
14/2/22	11: 56: 33	34	0.1	360	10	3600	3559	G	4.69	25.23414375	87.27411674	Normal					
14/2/22	11: 57: 9	34	0.1	250	10.1	2500	2493	G	3.41	25.23371673	87.27464245	Curve					
14/2/22	11: 58: 19	34	0.1	270	10	2700	2686	G	2.65	25.23413404	87.27537201	Curve	Name of Contractor- Shailesh Kuma				
14/2/22	11: 58: 19	34	0.1	280	10.1	2800	2783	G	2.76	25.23410493	87.27631615	Normal	Singh				
14/2/22	11: 59: 0	34	0.1	220	20.2	2200	2202	G	2.05	25.23392053	87.27730321	Normal					
14/2/22	11: 59: 0	34	0.1	380	20.2	3800	3752	G	3.91	25.23392053	87.27730321	Normal					
14/2/22	11: 59: 30	34	0.1	380	20.2	3800	3752	G	4.91	25.23331882	87.27922367	Normal					
14/2/22	11: 59: 30	34	0.1	360	20.2	3600	3559	G	4.69	25.23283357	87.28008197	Normal					
						61300	60917		69.2								
					AVG=	3226	3206.2	G	3.64								

